
Fill in blank boxes with measurements of the racking system. 

Top of hole 
to top of hole 

Measurement Needed 

CJ 

26.50 

t 

Measurement Needed l 

I I 
• • 

Inside to Inside 
of Wire Bay Uprights 

5 4 

t. mcu•
uo

ccucu 

Outside to Outside 
of Wire Bay Uprights 

3 
T 

J 
2 

iTiiiiLca. 

QTY OF BAYS:      

NAME D. Jordon 

SIZE DWG. NO. 

(865)670-3713 

DATE ?? 

REV 

A Rack Setup 
SCALE: 1 :50 WEIGHT: SHEET 1 OF 1 

Max Spool 
Diameter 

Back to Back

RB42: 33" Spools

RB60: 50" Spools

RB48: 39" Spools



DETAIL D
SCALE 2 : 15

3/8" 16T x 1.25"L Grade 8 Gold Hex bolts 
and Split Lock Washers

3

SCALE: 1:50

D. Jordan

SHEET 1 OF 2

??

RB60 Setup
2

WEIGHT: 

REVDWG.  NO.

A
SIZE

TITLE:

(865)670-3713

NAME DATE

5 4 1

B

D

DETAIL B
SCALE 1 : 5

7/16" x 4"L Hex Bolt, Washers, and Nylock Nut
through Racking side holes



3

D. Jordan

2

SHEET 2 OF 2

??

SCALE: 1:50

RB60 Setup
WEIGHT: 

REVDWG.  NO.

A
SIZE

TITLE:

(865)670-3713

NAME DATE

5 4 1

DETAIL C
SCALE 1 : 6

C



5

RB48
SHEET 1 OF 1

??D. Jordan

SCALE: 1:20

34

Pair of Rack Brackets for 48" rack width

2

WEIGHT: 

REVDWG.  NO.

A
SIZE

TITLE:

(865)670-3713

NAME DATE

1

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 RB-401.2 Left side Rack Bracket 48" 1
2 RB-402.2 Right side Rack Bracket 48" 1
3 HW-346 3/8" 16T 1.25L Grade 8 Bolt 12

3

 4
8.

12
5 

 4
8.

12
5 

1 2

 4
.0

0 

 4
.0

0 

 0.470 



3

D. Jordan

2

Pair of Rack Brackets for 42" Rack Depth

SHEET 1 OF 1

??

SCALE: 1:20

RB42
WEIGHT: 

REVDWG.  NO.

A
SIZE

TITLE:

(865)670-3713

NAME DATE

5 4 1

12 3

 4
.0

0  4
.0

0 

 1
0.

00
 

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 RB-403.2 Left side Rack Bracket 42" 1
2 RB-404.2 Right side Rack Bracket 42" 1
3 HW-346 3/8" 16T 1.25L Grade 8 Bolt 12

 4.46 

 4
2.

12
5 

 4
2.

12
5 

 4
.1

5 



5 4

SHEET 1 OF 1

??D. Jordan

SCALE: 1:20

23

RB60

Pair of Rack Brackets for 60" rack width

WEIGHT: 

REVDWG.  NO.

A
SIZE

TITLE:

(865)670-3713

NAME DATE

1

 4
.0

0  4
.0

0 

 1
0.

00
 

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 RB-409.2 Left side Rack Bracket 60" 1

2 RB-410.2 Right side Rack Bracket 60" 1

3 HW-346 3/8" 16T 1.25L Grade 8 Bolt 12

 0.98 

 6
0.

12
5 

 6
0.

12
5 

 0.98 
 4.46 

 4.28 

1 3
2




